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Instructions : 1. Answer Q. No. 11 and any five of the remaining
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2. Q. No. 11 carries 20 marks and the remaining carry

16 marks each.

3. Answers should be written either in English or Kannada

completely.

. Explain the relationship between theory and research.

%m@oé B ReFRETING SBONT ROV, QDO0.

. Explain the structure of social action by Talcott Parsons.
BRI TORFD, @0 ABPT §0300d TWS0IRY DWORD.

. Explain the Dialectical conflict theory of Ralf Dahrendorf.

e, @ Comx"F 050 38 T00R0BF T ROPRS %cn%soéda’%
DWORO.

. Explain Liberal Feminism and Black feminism.

dpviante] aéemd TN %—%’ @mdﬁ@ QOX0.

. Briefly explain the theory of modernity by Anthony Giddens.

STOVEE BT S0 NEF TRT ?um@oédaigl Rosgon
DROXD.

. Explain the risk society of Ulrich Beck.

e9eF 023 235700 90O :Jdmsdgi;{ B0020 DROAD.
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Q. No. 7. Discuss the emergence and development of the conflict theories in
sociology. Marks : 16
ﬁﬁmum@cﬁ@ﬁa’ ROTFRF Eoc%oéﬁei M0 TN zﬁ%eéﬁo:bag
2330,

Q. No. 8. Describe the social structure and Anomie of R. K. Merton. Marks : 16
507, 3. ROLIFF 0RO AJNLF 0238 TR V0IRITLIZ0L
B0 QDWORD.

Q. No. 9. Explain the ‘Juggernaut Theory' of George Ritzer. Marks : 16

WEF DWO'ORT ' WNO 0T AT3HOT B, D[ORD.
Q. No. 10. Write short notes on any two of the following :
FENS CIRTIE HTBRY, 00T TR Led WD :

(a) Paradigms in social theories.
TOWIVLT %m@o@d qggjimedrﬁeﬁo.

(b) A.G.LL.

(c) Globalization.
PPNSEBTER.

Q. No. 11. Write explanatory notes on any two topics given below :

PN odRR)Te ATE @ﬁodari@dﬁgt 3003 addmiﬁ wdfé
2000200 :

(a) Mc Donaldization
ﬁ%ﬁ*’ BRTICT RBEFOD

(b) Middle Range theory
DG JNFT Poa%oé

(c) Neo Functionalism.
D3~ FI0INFGFaIT,

Marks : 2x8=16

Marks : 2x10=20




